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5.6 gv e \ (XM {3} + x  {2}-16x = 16 \) \begin{align *} x * {3} + x * {2}-16x &amp; = 16 \ \ x ~ {3} + x * {2}-16x-16 &amp; = 0 \\ \text{Let} a (x) &amp; = x * {3} + x * {2}-16x-16 \\ a (-1) &amp; = (-1) * {3} + (-1) * {2}-16 (-1) \\ &amp; =-1 + 1 + 16-16 \\ &amp; = 0\ \\\\ (x) &amp; = (x * {2}-16) \ \ &amp; = (x +
1) (x-4) (x + 4)\\\\ 0 &amp; = (x + 1) (4-ouSal) (x + 4) \ W\ 13 x =-1 &amp; \text{L} x = 4 \text{L} X =-4\ {,S douw } s> ¥\ (-n A {3}-n A {2} + 22n + 40 = 0))) \begin{align *} n ~ {3} + n ~ {2}-22n-40 &amp; = 0\ \ \text{Let} a ((,.|) &amp; = n ~ {3} + n ~ {2}-22n-40 \\ a (-2) &amp; = (-2) * {3} + (-2)  {2}-22 (-
2)-40\\ &amp; =-8 + 4 + 44-40\\ &amp; = 0\\\ () &amp; = (n + 2) (n * {2}-n-20) \\ &amp; = (n + 2) \\\\\\ N\ 0 &amp; = (2 + ¢) (n-5) (n + 4) \\\ [3[J) n =-2 &amp; text{L} n =-4 \text{L} n =5\ t\ n LS 2oww *}\ (v (Y {2} + 2y) = 19y + 20] \begin{align *} y (y * {2} + 2y) &amp; =19y + 20\ \y " {3} + 2y
{2}-19y-20 &amp; = 0\ \ \text{Let} a (y) &amp; =y * {3} + 2y * {2}-19y-20 \\ a (-1) &amp; = (-1) * {3} + 2 (-1) * {2}-19 (-1)-20 \\ &amp; =-1 + 2 + 19 -20 \\ &amp; = 0\\\ (y) &amp; = (y + 1) (y * {2} + y-20) \\ &amp; = (y + 1) (y + 5) (y-4) \\\\n 0 &amp; = (y + 1) (y + 5) (y-4) \\\ [Jw [J>9 ywl y =-1 &amp;
\text{L}y = 4 \text{L} y =-5\t\ n LS 2oww *}\ (K~ {3} + 9k ~ {2} + 26k + 24 = 0) \begin{align *} \text{Let} a (k) &amp; = k * {3} + 9k " {2} + 26k + 24 \\ a (-2) &amp; = (-2) {3} + 9 (-2) * {2} + 26 (-2) + 24 \\ &amp; =-8 + 36-52 + 24 \\ &amp; = 0\\\ (k) &amp; = (k + 2) (k * {2} + 7k + 12) \\ &amp; = (k + 2)
(k+3)\\\\ 0 &amp; = (k + 2) (k + 4) \\ AWV 2 &amp; text{L} k =-3 \text{L} kK =-4 \ t\ n S @oww *}\ (X A {3} + 2x ~ {2}- 50 = 25x \) \begin{align *} x ~ {3} + 2x " {2}- 50 &amp; = 25x \ \ x * {3} + 2x ~ {2}-25x-50 &amp; = 0\ \ \text{Let} a (x) &amp; = x * {3} + 2x * {2}-25x-50 \\ (-2) &amp; = (-2) *
{3} + 2 (-2) ~ {2}-25 (-2)-50 \ \ &amp; =-8 + 8 + 50-50 \ \ &amp; = 0\ \\\ (x) &amp; = (x + 2) (x * {2}-25) \\ &amp; = (x + 2) (x-5) (x + 5) \\ 1V 0 &amp; = (x-5) VALV LVVL VDDV VDAV VAV N2 &amp; \text{L} x = 5 \text{L} X =-5\ t {@>ww *} \begin{align *}-p " {3} + 19p-30 &amp; =0\\p*{ 3}-19p + 30
&amp; = 0\ \ \text{ } A (p) &amp; =p ~ {3}-19p + 30 \\ a (3) &amp; = (3) * {3}-19 (3) + 30 \\ &amp; = 27 -57 + 30 \\ &amp; = 0\\\) &amp; = (p-3) (p * {2} + 3p-10) \ \ &amp; = (p-3) (p-2) (p + 5) \\\\\\\\\ 0 &amp; = (p-3) \\)) (p + 5) \\\ p = 3 &amp; \text{L} p = 2 \text{L} p =-5\t\ n 6) \ {* LS BowwXx " {2}-
x M {3} =5x + 12\) \begin{align *} 0 = x * {3}-6x ~ {2} + 5x + 12 \\ \text{Let} a (x) &amp; = x * {3}-6x *{ 2} + 5x + 12\\ a (-1) &amp; = (-1) *{3}-6 (-1) * {2} + 5 (-1) + 12\ \ &amp; =-1 -6 -5 + 12 \\ &amp; = 0\ \\\\\ &amp; = (x + 1) (x * {2}-7x + 12) \&amp; = (X + 2) (x-3) (x-4) \ For this reason 0 &amp; = (X +
1) (x-3) \ So x =-1 &amp; \text{or} x = 3 \text{or} x = 4 \ t {alignment *} To continue enjoying our website, we ask that you verify your identity as a human being. Thank you so much for your support. Issue 1: Solve equation 3x3 — 16x2 + 23x — 1= 0 if 1. Out of two roots, 1. Solution: Let us solve the quebec
equation given using the artificial division. We apply the value of x to zero as the remaining ge 2. So, (x-2) is a factor. Factors (x-2) (3x2-10x + 3) By factoring the chakori-hit equation, we get = 3x2-1x-9x + 3 = X (3x-1)-3 (3x-1) = (X-3) (3X-1) x-2 =0x =2 X-3 =0x =3 3x-1 = 03x = 1x = 1/3 Thus x has 2
values, 3 and 1/3. The normal form of polytheous 4th degree. ax4 + bx3+cx2 +dx+e=0wex + 3 +y +lated =-b/aa+ay+d+dy+dd+ylated=c/lawe By +aBlongd+ aylong d + & =-d/awep 3y & = e/a problem 2: Find the amount of squares of the roots of the equation: 2x4-8x3 + 6x2-3 =
OSolution: By comparing the equation given with the common form of a multiple of degree 4, we have one =2,b=-8,c=6andd=-3a + 3 +y + Long & =-b/a = 8/2 = 4hypod + wexax + hypod + d + dy + & + &d = c/a = 6/2 = 3We algebraic number to apply id we have to apply the number of the i.e. we have
to apply the number of the number of the name of the country . b2 +c2 +d2 + 2 (ab + ac + ad + bc + b) We get (a + B +y + late d) 2 = we get (a + 3 + y + late d) 2 = we get (we have to do so) 2 = we have to be able to get (a + + y + up until late d) 2 = we have to be able to get the help of the two people .
02 =(a+ B +y+long d) 2-2 (we have to be able to use the right right to use the right right to the right of the equation. Problem 3: Solve equation x3-9x2 + 14x + 24 = 0 if it is given that two of its roots are in proportion 3:2. Solution:-1 is one of the roots of the cubic equation. By factoring the chakori-hit
equation x2-10x + 24, we can get other roots. x2-10x + 24 = x2-6x-4x + 24 = x (x-6)-4 (x-6) = (x-4) (x 6) x-4 = 0 and x-6 = Ox = 2 and x = 6X The roots of the cubic equation are -1, 4 and 6. In addition to the above stuff, if you need any other stuff in mathematics, please search for our Google custom. If you
have any feedback about our math materials, please mail us: v4formath@gmail. comWe always appreciate your feedback. You can also visit the following web pages on various things in mathematics. On issues of word problymaschaph and THE WORD OF THE WORD PROBLYMSOORD, ON THE
PROBLEMS OF THE WORD PLAIN EQUATION ON THE PROBLEMS OF THE WORD LINEAR EQUATION On THE PROBLEMS OF THE WORD On the unit rate word to compare such problems, minor units word to change the word problems metric units word problems on simple interestWord issues
to present the problem on simple interestWord issues compound interestingWord problems but simple and side angle word problems of problems And reducing word problems in Marcus The word found on fritatoonsvoord issues on problems of problymsoord Fratravonsoni phase equation word
problymselanair esophatosis word problymseratao and proportions set to the word problymstomamy and problemsWord problem And the word AgesPython issues work on the insertion diagramsWord issues a number word problems problems on the average speed word issues at the average speed word
issues on the angle amount of a triangle. ShortcutsPercentage shortcutsTimes table shortcutsTime, speed and distance shortcuts, long-range of rational functions with the rational functions of The Shortcutsratio and Ratio Shortkotsdumen and Logical Fontaonsdumen with The Rational
Functionasgraphong. C. Using the M method with the rational fractiononsdekamal representing numbering of square root. The word problems in the algebraic number expressionsRemember to solve time and work are distributed by the problems of the word problems when 2 power 256 17Remainer when
17 power 23 All Three India All three of the 6Sum digit numbers are divided by 16 SIM of all three numbers, which is set by the number of all three numbers divided by 7Sum of all three digit numbers, which contains 1, 3, 4Sum is set up with non-zero 3 4 dagotassam of all 3 4 digit numbers which number
all 34 numbers of 0, 1, 2, 3Sum 1, 2, 5, 6 Copyright onlinemath4all.com Related Topics of SBI: More Algebra Lessons More Algebra Articles in this lesson We will learn how to use the rest of the problem and factor problem to cubic equation To solve. What is the rest of the problem? If a polynomial, f (x),
is divided by X-k, the rest is equal to f (k). What is the element affirmative? X-k is an element of polypherous f (x) if and only if f (k) = 0 How to solve the cubic equation using element problem? In these lessons, we will consider px3 + gx2 + xx + s = 0 where to solve the quebec equation by using p, g, r and
s element problem and artificial division. The following map shows an example of solving the quebec equation. How to solve the quebec equation scan the page for more examples and solutions. Example: Find the roots of f (x) = 2x3 + 3x2-11x-6 = 0, given that it has at least one molecular number root.
Solution: Since the equation has a 6 continuously, we know that the molecular number should be an element of root 6. Possible values are step 1: Use the factor problem to test the potential values by trial and error. f (1) =2 + 3-11-6 #0f (-1) =-2+ 3+ 11-6 #0f (2) = 16 + 12-22-6 = 0 We find that the
digital root is 2. Step 2: Examine or find other roots either by artificial division. 2x3 + 3x2-11x-6 = (x — 2) (ax2 + b + ¢) = (x-2) (2x3 + b + 3) = (x- + 7x + 3) = (x-2) (2x + 1) (x + 3) Hence, roots are examples: Cubic equation x3-7x2 + 4x + 12 = 0 Solution: Let f (x) = x3-7x2 + 4x + 12 Possible values We are
looking for f (-1) ) =-1-7-4 + 12 = 0 So, (X + 1) f (x) is an element of x3-7x2 + 4x + 12 = (x + 1) (x2-8x + 12) = (x + 1) (x-2) (x-6) So, roots are — 1 What is the rest of the problem and factor problem? How to use calculations to find a multi-sum linear product multiplication? Example: Factor F (x) = 2x3 — 3x2 -
5x + 6 Show step-by-step solution How to use the problem affirmative for factor polynomial? For example: 1) Factor P (x) = 3x3 — x2 — 10x + 8 2) Factor P (x) = 2x3 — 9x2 + x + 12 How to use the element problem to solve a cubit equation? If f (X) is a polynomial and f (p) = 0 then x-p f (x) is example:
Equation 2x3 — 5x2 — 10 = 23x Show Step by step using solution factor and long division How to solve quebec equations For example: Find the roots of the quebec equation 2x3 — 2x3 + 7x — 1 = 0 How to solve the cubic equation using the factor and artificial division Solve? Example: Show that x + 3 is an
element of x3: 19x — 30 = 0. Then find the remaining factors of f (x) How to show step by step solutions to solve problems of quebec equations? For example: 3x3 — 4x2 — 17x = x3 + 3x3 — 10 Set a part of the equation equal to step 1:0. Step 2: Submit the like terms. Step 3: Use factor problem to follow the
various mathematical themes of the factor and the phase-wise solution of the factor and long division try the free Mathoi calculator and problem solver below. Try the given examples, or type in your problem and answer with a step-by-step explanation. We welcome your feedback, comments and questions
about this site or page. Please present your feedback or inquiry via our feedback page. Page.
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